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Answers to this Paper must be written on the paper provided separately.
You will not be allowed to write during the first 15 minutes.
This time is to be spent in reading the question paper.

The time given at the head of this Paper is the time allowed Jor writing the answers.

Attempt all questions from Section A and any four questions from Section B.

All working, including rough work, must be clearly shown and must be done on the same
sheet as the rest of the answer-

Omission of essential working will result in loss of marks.
The intended marks for questions or parts of questions are given in brackets []

Mathematical tables are provided.

Section A
(Attempt all question from this section)
Question1 [15]
Choose the correct answers to the question from the option given below.

i. Ifx=+v2+ 1 then rationalizing 'x’ will give.
a) 0
b) 1
e) 3
d) 2

5
i. (27) =
a) 343
b) 243
c) 323
d) 123

iii.  The Factors of a? — 81 are
a) (a—3)(a+3)
b) (a—3)(a+9)
¢) (a—3)(a+3)(a+9)
d) (a—3)(a+3)(a-9)




iv.

Vi.

vil.

Viii.

In the figure given alongside, AABC = AEFD by
a) SSA test
b) SAA test
c) ASA test
d) RHS test

The measure of d from the figure given
alongside is

a) 180°

b) 100°

c) 70°

d) 30°

The perimeter of square ABCD with coordinate
A(5,-3) and B(—7,2) is

a) 13 units

b) 16 units

¢) 65 units

d) 52 units

In the figure given alongside AB = AC, then
£BAC is

a) 80°

b) 90°

c) 45°

d) 70°

Distance of the point P(—8,15) from the origin is
a) 17 units
b) 15 units
¢) 14 units
d) 12 units

In the figure given alongside AB||BF||CG, AB = BC
and EF = 4 cm, then
EG = ___

a) 8cm

b) 4em

c) 6cm

d) 9cm

AGD) D




X1.

Xii.

Xiii.

Xiv.

XV,

H4x+2y+2z= 0 then the value of 64x° + 8y3 + 23 =

a)

<)
d

ey

24xyz
42xyz :
64xyz E
12xyz

X

IfOEFGH is a square and length of the diagonal EG = 3v7 om,
then the length of the side of the square is y J2em |
a) 3cm
b) Scm
¢c) 6em
d) 2em |

In APQR,PQ = PR and PQ = 2x,PR = 8 cm, then
the value of x is.

a) 2cm

b) 8 cm

¢) 4cm

d) 16cm

2% Bcm

In the expansion of (2x + 1)(3x + 2) the
coefficient of x? is Q : R
a) 2
b) 3
c) 6
d) 1

If7iy=49,theny = ___
a) 2
b) -2
8«3
d) -7

; Ay . Sl Lo oe
Rationalizing the denominator for B will give

V3
a)—z-
b) 22
c)g

d)iz-E




Question 2
i.  Find the value of *a’ and *b’ if

j_j: =a+bV3 G

1=-2x
i Findx,if 2= (2) 4]

iii.  Find the coordinates of the circumcenter of the triangle EFG, whose vertices E, F and

G are (—2,-3), (—=1,0) and (7, —-6) respectively. (4]
Question 3
. 1 24 1 g
i Ifx-—;=3,evaluatex +x-—2andx — [4]
ii. In the Figure given alongside, AB = PQ and BR = QC, AB 1 BC and PQ L RQ
prove that AC=PR. [4]
A P
]
8 R ¢ g
ii.  Find the solution of the simultaneous equation
y=2x+1
x+2y+3=0 .
By using graphical Method. [5]
Section B

(Attempt any 4 questions from this section)
Question 4

1. Use suitable identity to find the value of
a) (10.3)2
b) (9.4)* [3]
ii.  In the figure given alongside, UW = UP and WP = PV £ WU P=52"
Find. !
a) LUWP [3]
b) 4PVW W




iii., EFGH is a quadrilateral, X, Y, Z, W are the midpoints of the respective sides prove
that quadrilateral XYZW is a parallelogram. [4]

H

w

Question 5

1. Factorize 3x2 — 1 — 2x. [3]
ii.  In the adjoining figure, if ZAEB = 44° and EB || FC, find the value of x and y. [3]

A
o

i 4
x
i F
LY #
ifi.  Represent v3 on the number line (Use compass and ruler only), (4)
Question 6
i I6*™ = 36% 2, find the valuc of 2%~3 x 3%—4 [3]
ii.  Factorize 25(a — b)? — 16(c = d)* [3]
iii. Inthe figure OPQRS is a rectangle, T is a point on SR such that TR = 5 cm,
PQ =14 cm and SP = 12 cm find. [4]
a) PT
b) TQ
S T 5em g
i2em
P 14 cm Q




?wm

Question 7
1. In the figure given below, find out the value of Y [3]
s
PS8 Y+ 10D R
Q
ii.  Two poles of heights 18m and 3m stand vertically on a plane ground. If the distance
between their tops is 17m, find the distance between their feet. 31
iii.  Solve the following simultaneous equations [4]
15 5 3 P
x+y x-y
35 5
= =2
xt+y x-y
Question 8
i.  Find the value of 'k, if the point (0.2) is equidistant from (3, k) and (k,5) [3]
ii.  Factorize a® — 125b% + 3a?b — 15ah? [3]

iii.  In the figure drawn below, PQ =10cm,PR =8cmand QR = 6 cm, if A, B, C are

(4]
Q

c 6cm

10 ecm A

8 cm

au:#ttttttt****a*tt*tmtttattttﬁnd ofpapcr*tuat*tt**#*attttux***tt*

the midpoints of sides PQ, PR and QR respectively, then find the perimeter of AABC.




